Determine if each of the followin
(@ X¥+y*-2x+2y-4=0

LOCUS — CIRCLES —STPM - M

" Find the equation of each of the following circles:

(a) centre (3, 2), radius 3,

(b) centre (-2, —1), radius 4,

- (c) centre (3, 4) and passing through the origin,

(d) radius 3 units and touching both axes,

(e) centre (1, 1) and touching the line 2x — y+4=0,
() centre (3, -2) and touching the line x + y-3=0.

State the centre and radius of each of the following circles:
@ X+ +4x+6y—-3=0
(©) 2x*+2y’—8x—-6y-7=0
(&) 24+ 2y - 10x+6y+9=0

b

®) F+3y*+4x-6y+15=0

(€) 4%+ 4y 20x +8y—-31 =0
d 2x*+ 2y 5x + 10y+16=0
(€) 9x%+ 9y2— 12x+24y- 16 =0

Find the equation of the circle that

on the line 4x + 3y + 1 = Q.

Find the equation of the circle that

(@ (0, 1), (0, 4) and (2, 5)
() (2,3) (@4, -1) and (2, -1)
(©) (-3,2), (-2, 5) and 2,1

Find the equation of the tan
the following cases:

(@) X+ y* ~4x~6y—37= 0; (3,-4)
(®) X+ +6x—2y-24= 0; (2,-2)
(©) x2+y2+8x+6y+5=0; (-6, 1)
(d) ¥+y*—6x+3y-5= 0; ~1,-2)
(e) x2+y2—6x+4y+3=0;(0,~1)

(b) x*+y?—6x+10y—15=0 |
(d) 3x2+3y2—9x+4y—1‘;0

g equations represent a circle, stating its centre and radius.

passes through the points (1, 6), (3, 3) and having its centr

passes through the points in each of the following cases.

gent to the given circle at the given point on the circle in each.of

A
|
]

7. Determine if the given line is a tangent to the given circle in each of the following cases, an
find its point of contact. ‘
(@) x+y=3;2+y+2x-7=90
b) 5xA+7y=41_;x2+y2—-3x+y— 16 =0
(€ 4x-9y=11; 4x% + 4y? + 4x — 0y-17=0
8. Find the equations of the tangents from the origin to the given circle in each of the follow
cases
(@ X+y*~5x-5y+10=0
(B) ¥+~ 10x-6y+25=0
© X+y+10x-2y+13=0 -
E’;‘"”(ij" .8 _ 4. 20+ 224 Tx-8y-33 =0 !
) X+ -Gy —dy+ 4= 24 p2 Ay~ 4-0
(b) x:+y:+4x+2y—11=0 > 8)) f{z:}{z_g;_'gﬁho
X ~b6x—8y=0 1=
. ((8 XQI}}:2+6)’:+6)}//+9=0 (€) 204224 x=11y~1=0 |
_2x—9y_3 6. (8 x~7y-31=0 (o) 5x-3y—16=0 |
(€) ¥+ y2—2x—2y-3=0 0 = |
2,2 - (©) x~2y+8=0 (d) 8x+y+10=0 1
) X+ pyi—6x+4y+it =0 & y-3x+1=0 i
2. @ t2 9, ! - b R | 7. (@) Yes (1, 2) (b) Yes, (4, 3)
) (2,57).37 3/ (5 =) 5 V109 © Yes, (2-
€ (F.-5)2 8. () y=3x 3y=x  (b) y=0, 8=15x
3. ((g Yes, (-1, 1), V6 (&) 3y=2x 2y=-3x
No
(©) Yes, (5, ~1), v75
(d) No
2 4
(E) YeS, (T, —"?), 2




